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Chapter Review exercises for 1.4-1.5 67,71,73,75,79, 83, 85, 89, 93, 99, 100

pettrmine H e equation epresents y as & funthon of X.

14| ¢7) lex-y9 =0

Sex Y yy Y is mot a funchon of x.

2Wx =1yl Some x-vqlves Correspond 72 2 Yuva
Y =3 2Wx ex: (1,9) (/,~%)

Evalvak « Simplify

21) FL)= x*+1
a) £l2) = (2)*+) = |5
b) f(-4) = (-«)*+) = |17
e) £(¢2) = (¢2)*+1 = [t ¥+

A)Pe+1) = (£41)(£+1) +1 t%+2¢ + 2

Find the damain. Verify with a graph.
73) fir)= Uas-x2 <« must be positiv

25-x2 20" ~° o
(5+x)(5-x) = O
eritical X=-5 X%
values . o _° s C-S)Sj
¥ test -4 -5 © < .
prerls o (-01*z0| 25-0*>0 | 25-¢ zo
Faqlsé 28 20 FALSE
TRye
hix)= ¥
75) hx) e~ 2T #0 — rr—
X2-X-C = o

(X-3)(x+2) =0
X®+E3  X#-2

(-®,-2)U(-2,3) v (3,00)
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Find e olterenty ®uotient and s,mplity,
74) fix) = ax*+3x=1, LIxX+h)- flx)

h
£(x+h) = a(x+h)*+ 3@)4

a(x+b){x+b)+ 3axX+3h-!
2T¥%4 2xhr h*] + 3x4 3h-1

2X*+ yyhi2h* + 3X+ 3h-I
fix) = ax*+3x-)

h#0

Diff. Quotient: = 2 +4xXh+ 2h*£3¥+3h>T ~(2x*+3%-1)
h

= 4xh+2h*+3h = h(4X42h+3)

1)

= ‘/X+2h+3,
h P, h #0

83) xX—4 = _\'3

y not a funetion

Fauls vertical
i <II | line test.

-4

8S) Find he 2eros algebmically  €(x) =3x*-)bx +2I
(3x-7)(x-3) = o0

3X~2 =0 ? X-3=0
X =2
X= 73 X=3

84) Dedtrmine e inxcrval over which Yhe eunchion [s
increasing, decreasing, oc tonsyant.  (deaph given)
£lx) = IxX] + lx+1) Decreasing on (-2, -1)
¢onsant on (-1,0)

Incregsingon (o, #°)
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use graphing talcvlator to find relative Maximvms ¥ minmums
(Round 1o 2 decima) places.)

43) £ix) = x3-ex? |

Relatve mgx at
/ (.12, ©)
Haxirun J
w=.12499896 1Y=Y4.BB2BE "4,
X2omin = 4.382 3 1o~
, 00048 2 O

Determind wWhether ¥he function s even odd, of herther,

¥ A funetion is even if  £(-X) = €(x)
¥ A function is odd i€ £l-¥) = -£(X)

a4) fi\= xX5+9x -7
£Ex) = (X0 +40X) -7
T-XS-yx-7
F flx) F -£€x) nerher even or odd

100) €(x) = X4 -20x*
fe=x) = (-x)¥-20(-x)*
= X9 - 20x?
= £(x) Even
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